EH No. b
EENEMREER —KEE1615
INRHEYE
i A VAV &

MEERE (A ~RAAL)



—REE1615 #dL/ N1/ R

—CENE1612 /INATLETE
—REE1615 HEER(EF~RAL)

FXOBH ZEEMEE (5iE)
BSERHOSEN BIERLOEE BEREEOLE GHHEr 7SR ] (ot )
. O HKAEAEHIEROEERBN—FEL>THRERIET LD THA=H. 37.25
FROBE - EHIKR EHOELE—HIHEL TS 50 25,2520 70 175 70 20,25 50
TR e HIT5ER (B~ RAL)] - ‘ i —
(B)#EESET () #E Lrn—n%‘rﬁ () #HE R XKEH
FEDLES MNVD [Ne10)) FO BED FOD 4I|Z
/ 3 ;‘ 3% BT, E Iz 1z E 7IC
= i YE/AER BE FAEH (RHIC) (AR 225
(B)BEESET () BBERKER () BEERXEH 0.751,,.2.0 7.0 . 3.0 7.0 2.0 10.75
WEDBES UBHH E=2FD Shbe ShbeEf 40 4.0
&2 ETELII e[ AIUA A (RAILIC) ﬁ & = g = j
\ = L
EBEE 10.8km 6.5km 6.6km /_@, = ﬁ
R FHE 1R FHE 10 #1BHR SR
H i EE 80km/h 80km/h 80km/h (B m)
HE OB % AE{R AE{R 4E#R \ - 19.25
P ChHagE] 105 10 175 10 175
= g 8 22.5~37.25m 18.25~19.25m 205m
= | o m B
FEXEE #919,900&5 H #930,000&5 .H #937,9004.H
LHREBEXE 300{&M 240{8M 160f2M
18.25
T ¥ Ik PBFN484EFE PBFN454EFE TR2TERE 1.25 1.0 175 1.0
EES ‘ ‘
MBS0 —
%B Fﬁ n+ E HE*[I]?{‘HQSL’:’“*% 32km |‘ ‘ ﬁ "IE ﬁ ,|
oy = FBFI514E5A '%'%Ff i -
~ I 3.3km i 88 (% ~ R Adt) ] .
(BifiI:m)
A& F MBI48 5 £ FBFASEE - 20.5
15 10 30 | ]
IEEF PRFISILEE BRFI4TEE FR2TERE T ‘ L ‘Q o=
MEEE 8.3km (2EE#8) 1.0km (4EE#8) 6.6km (2E2#3) \ﬁ@ ) :
#973% (1453 F 85 5 205
EXEHE $973% (SFI4EIA KEF =) $963% (43 A K i) $941% (BEHERDEBXEEIIC NEN 70 3'0
Y B =) _ 23 : ——
28 - |
. #994% #996% 100% -
RRELE | (En—z $TUEIRRSA) | @SR SUEARER | (ERA—R, SEUEIARER) N vy 2




(BE2H)
BIRE [ERES BHIRE TR
Ei&1615 INRHRTE 4 6.5km
BEEERNR
£% | &8 14 B | wE L %
D& 17,286
BRE 1,839
T m3 1,676,149 1,655 [§11(529,970m) . B+ (1,119,680m) | 35 1+(26,499m)%
BB RRT m3
EET m 35,004 21 | LEE. BEEE
BEEET = 1 98 |EAHERE, L BUEEE HTHERE, - XS
HETL m 652 65
ERE 703 7,559
100mEL £ m 660 6,790 |EfEEIE 1S
100m3K i m 43 769 |PCiB215
[Z 1% 430 5,780
NATM m 430 5,780
=Lk m
IC-JCTH
IC T
JCcT Gl
HEE 159,549 1,927
HEMHE 153,138 1,886 |#TE%EH: 100,991m2, BB EHE:52,147Tm2
e m 6,411 41
e 181
EEEERT = 1 181|123, BHEEMR. ERREBASE
EEE m
QR R HEE 4,730
At m 118,800 3,970
=) i 31,455 2,831
HA m 73,523 1,103
Lk R m 13,822 36
HHEE b 1 760
QR = 1 1,984 [MERE. BE. HAFRIERF
LHREER 24,000

[Effi%IZDLT)

OIFHFHICHI>TE TATERESHRVEREREFMORMEMEMEA

ORMMEERHICH-->TIE AEEXEMOEIREREZER




ZEHA L

G%%%)
BRiRB ERES B ER
EiE1615 INAHEDE 4 5.5km
BEXERNR
£% | #A 17 | wE L fii%
Q=% 6,240
BRE 203
T m3 92,383 125 |411(21,148m) , B (92,554m) &
HMBEMmENRT m3
EET m 6,195 4 |UNkikRm. BEEE
HEEET = 1 62 |EAHERE, L BIgERE HTHERE, 3-h XS
[l m 115 12
BRE 696 4,202
100mELE m 660 3,802 [EfimEEE
100m 3 ik m 36 400 |PCHB2#B
FoRILE
NATM m
=LK m
IC-JCTE
IC T
JCT EL0
HEH 136,924 1,654
HEWHE m 131,421 1,619 |$7E2ETE:86,669m2, BB EHE:44,752m2
SiEfE ] 5,503 35
e 181
RBEEMBHT = 1 181 (4358, [H3EHR. ERRIREAS
EHEE m
QR RHEE 1,412
FAth % m 23,030 1,370
Eifh i 9,292 938
4 m 11,722 422
k- RE m 2,016 10
wEE = 1 42
QmERE = 1 589 |HERAE. BE. REIRIBERT
LHREEE 8,241

[BffiZI=DLT]

OIFRFHIIH->TE IATIERESHR VA REXERORIREMEER

ORMHEERHICH > T AEBEXEROELIREHTEZER




